


S61001 S61009 S61017 S61025
\J ’ o | o - - | .
Caliper Adjusting Mechanism Brake Caliper Calibration Bolt-3 -~ Caliper Pin Cap Set ‘/ Caliper Sensor Cover, Aluminium
APPLICATION : SB6000/SB7000 Thread = 3 OEM NO : 1139769F0063 e ’3
v SN6000/SN7000 APPLICATION : SB6000/SB7000 ~ APPLICATION : All SB Series ST e
SN6000/SN7000 N——
N $61002 $61010 1 $61018 B $61050
Y © Pinion Shaft c:“;;;,.‘a Caliper Calibration Shaft Chain t L Caliper Pin Bushing ﬂ A Plastic Cover
APPLICATION : SB6000/SB7000 APPLICATION : SB6000/SB7000 APPLICATION : All SB/SN Series > APPLICATION : SB5
SN6000/SN7000 SN6000/SN7000 - r
S61003 S61011 S61019 S61060

Caliper Roller Bearing Set / 2PCS
APPLICATION : SB6000/SB7000

Sheet Metal Cap
APPLICATION : SN6000/SN7000

L2

O

Pin Bellow Cap Set
APPLICATION : All SB/SN Series

Brake Caliper Bridge
APPLICATION : SB6000/SB7000

Caliper Adjusting Mechanism Adapter
OEM NO.Z001548
APPLICATION : All SB/SN Series

Caliper Pin Boot Set

APPLICATION * All SB/SN Series

Caliper Teppet & Boot Set, 74mm
OEM NO : K000944/K010604/
11304130065/ 11 304130062
APPLICATION : SB6000/SB7000

S61004 S61012 S61020 S61061
| NI/
ﬂ‘\ ' '.' Caliper Roller Bearing Set / 2PCS Caliper Bridge Spring Caliper Pin Rubber Bush, Long ‘ ) Brake Caliper Bridge
e — APPLICATION : SN6000/SN7000 APPLICATION : SN6000/SN7000 APPLICATION : All SB/SN Series APPLICATION : SN6000/SN7000
= ‘; ——
P S61005 S61013 S61021 S61062
o~ -~ N W - UD)
‘ / Brake Pad Retainer Repair Kit M‘ Brake Caliper Lever Bearing Bushing Caliper Pin Rubber Bush, Short ‘ ‘ Brake Caliper Bridge
= — OEM NO : 119712004/ 11 30679004 =— APPLICATION : SB6000/SB7000 APPLICATION : All SB/SN Series APPLICATION : SN6000/SN7000
LI = APPLICATION : SB6000/SB7000 SN6000/SN7000 =] i
SN6000/SN7000
. ‘ 561006 L~ — ST 561022 S61063
A ° ) ) § o ) ) ) vme ) ) g
\ g Brake Pad Retainer & Mechanism » ! L Wy Shsft Housing Pin Clamp Bearing Set ‘ Plastic Cover Brake Caliper Lever, Angle12
‘_}"é = ‘\\ Adapter Repair Kit 2 APPLICATION : SB6000/SB7000 3 APPLICATION : SB6000/SB7000/
3 M =7 APPLICATION - All SB/SN Series dVipIPLe® Yy SN6000/SN7000 SN6000/SN7000
v vu —
S61007 S610156 S61023 S61064

Brake Caliper Lever, AngleQ®

561065

Al 51008 $61016 ‘ . 561024
Caliper Teppet & Boot Set, 69mm

f '} Caliper Mechanism Gear Pin Bush 40 x 36 x 82mm " OEM NO : K000366/K001300/ Brake Caliper Lever, Angle12®
# APPLICATION : All SB/SN Series APPLICATION : SB6000/SB7000 fE -~ K010603
ORE SN6000/SN7000 q VDR C 74 APPLICATION : SN6000/SN7000
v - SK7000/NA7000

o OE, Original number, and Maker, for reference Purpose only. OE, Original number, and Maker, for reference Purpose only. e



S61080 S61083 S61086 S61089

Caliper Pin Repair Kit Caliper Short Pin Repair Kit Caliper Pin Repair Kit Caliper Pin Repair Kit
OEM NO - [197140062/1197330062 7 OEM NO - 1368470064 \ OEM NO - KD00G96 = APPLICATION - All SB/SN Series
11325090062/ 11325090063 (‘ APPLICATION - SBG000/SBT7000 w APPLICATION - SNG00D/SNT000 = 5 ) SUNDOZ NO| DESCI lON oty
H339530052f]¥359100052 . -5 SUNDOZNG|  DESG 10N o] J / |suNDOZNO|  DESCROPTION  |arY] ‘Q - o spinyy |Caliper Pin Rubker Bush- |
APPLICATION : SB6000/SB7000 ‘ S81026_|Pin Bushing 1 a 861015 _|Pin Boot- (Red) 1 — o) L[ ABhore)
9 |sunDoz NO 'DESCROPTIO! Jary] 561031 |Caliper Pin-24 » B0mm 1 . SB101A |Pin Bush-40« 36 % B2mm_| 1 Ve 261033 |Caliper Fin-36% 1amm 1
.] f.) SE1015 1 S61038 |Pin Bolt-M16 % 1.5-88mm 1 L }‘ ‘U SE1017 |Caliper Pin Cap Set 1 y SE1034 C_allper Pir-34 % 80mm 1
il (o 4 SE1016 |Pin Bush-40 x 36 x A2mm 1 SR1033 |Caliper Pin-36 x 114mm 1 581038 F'|_n Bolt-M16 % 1.68-85mm 1
—‘— — 551019 |Pin Bellow Cap Set 1 SE1032 |Pin Bolt=M168 % 1 5-85mm 1 581039 |Fin Bolt-M16 % 1.5-80mm 1
SE1026 |Pin Bushing |
561030 |Caliper Pin-36 x 45mm 1
561031 |Caliper Pin-34 x B0mm 1
561037 |Fin Bolt-M16 % 1.5-150mm 1
561038 |Fin Bolt-M16x% 1.5-85mm 1 S61084 SB1087 S61090
Caliper Pin Repair Kit Caliper Pin Repair Kit Caliper Pin Repair Kit
OEM NO - KD0D375/K001532 APPLICATION - SBE000/SBT000 \ APPLICATION - All SB/SN Series
PPLICATION : DUO.-"S'!DDD ' ;;:lrlaz'-'qummm_ aTy | \Y E:n':.rqﬁ' DESCROPTION
NO|  DESCROFP N _' 1 SE1015 |Pin Boot- (Red) 1 .\ ¥ \ SR1090 Caliper Pin Rubber Bush- 1
’ SE1015 |Pin Boot {Red) 1 p k ' SA1016 |PinBush-4Dx 26 B2mm | 1 - = —¥u- {Long)
' ‘lk 4 SB1018 |Pin Bush-40x 36x B2mm [ 1 .: o J (" SB1019 |Pin Bellow Cap Set 1 TiA 561033 |Caliper Pin 36  114mm 1
S61081 Y SA1017 |Caliper Fin Cap Set 1 P e 51021 |Caliper Pin Rubber Bush- | = 581034 |Caliper Pin-32 x B0mm 1
;:_ - Caliper Pin Rubber Bush- i {Short) 561038 |Pin Bolt-M18 % 1.5-8B5mm 1
. . B e SA1020 1 i ~F 4 - =
Caliper Pin Repair Kit ol {Long) < SB1027 |Fin Cap 1 561039 |Pin BoltM 18 % 1 5-80mm | 1
APPLICATION : SBG0DO/SBT7000 ~/ SA1033 |Caliper Pin-2A % 114mm 1 581030 |Caliper Pin-38 x 145mm 1
fﬁ"!"”ﬂ“'g__ﬁ‘}'{"“‘?‘" i‘Ti"w' 561034 |Caliper Pin-32 % 80mm 1 561034 |Caliper Fin-32 % B0mm 1
' 81015 |PinBoot (Red) @ SA1038 |Pin BoltM 16 % 1 5-85mm 1 SA1037 |Fin Bolt-M18% 1.5-150mm | 1
‘ SE1016 |Pin Bush-40% 36 82mm 1 S61039 [Pin Bolt-M16 % 1.5-B0mm 1 561032 |Fin Bolt-M16% 1.5-80mm 1
& m 561019 |Pin Bellow Cap Set 1
@ = SE1026 |Fin Bushing 1 S61091
561031 |Caliper Pin-34 x B0mm 1
561032 |Caliper Fin-36 % 135mm 1 Caliper Pin Repair Kit
APPLICATION - SBG000/SET000
A
'. SUNDOZ NC DESCROPTION
< v, SB1015 |PinBoot- { Red) 1
/ / SE1016 |PinBush-40x 36 % 82mm 1
A E\'_‘T_.- 561017 |Caliper Pin Cap Set 1
S61082 S$61085 S61088 é: ""p ¥ SE1026 |Pin Bushing 1
5681027 |Pin Cap 1
Caliper Pin Repair Kit Caliper Pin Rubber Kit Caliper Pin Repair Kit 561031 |Caliper Pin-24 % BOmm 1
OEM NO I K0D0698 OEM NO : K000472 OEM NO I K000132/11304130061 SA1023 |Caliper Pin-36 % 114mm 1
( 5 & APPLICATION - All SE Series APPLICATION - SNG000D/SNT000 APPLICATION - SBE000/SBT000 SA1035 |Pin Bolt-M 16 % 1.5-85mm 2
SRR s 100z No|  DESCROPTION [ar] (¢ ’ q SUNDOZNO| DESCROPTION |ary] u 1" SuNDOZNO| DESCROPTION |ar
’,'{_D SR1090 C(adgj:rfln Rubber Bush- ' ¢ .‘J|L 4 ."' 561015 F'!n Boot- (Red) 1 1% & SB1015 F'!n Boot- (Red) 1
&) d : | Lle 561016 |Pin Bush-40x 38 x 82mm 1 _‘. v 561016 |Fin Bush-40x 36 x B2mm 1
SE1034 |Caliper Pin-32 » 80mm ! . i B aginag |Caliper Pin Rubker Bush- 1 L SE1019 |Pin Bellow Cap Set 1 $61092
SE1039 |Pin Bolt-M 16 % 1.5-80mm 1 -—_1 == = {Long) 0 e SB1026 |Pin Bushing ]
L7 i 30 561027 |Pin Cap i - Tl T B Caliper Pin Repair Kit
561033 |Caliper Pin-36x 114mm 1 SE1032 |Caliper Pin-36 % 135mm 1 APPLICATION : SBG0O00/SBT000
561034 |Caliper Pin-32» B0mm ! S61038 |Fin BoltM16x 1.5-85mm | 1 r |sUNDOZ NG|  DESCROPTION an
561038 F'!n Bolt-M16 % 1.5-85mm 1 561038 |Pin Bolt-M16 % 1.5-80mm 1 6!‘ N g & SE1015 |PinBoot- {Red)
SB1039 |Pin Bolt-M18x% 1.5-80mm | 1 581040 |Pin Bolt-M16% 1.5-140mm | 1 g d ¥ SB1018 |Pin Bush-40 x 38 x 82mm
(. _—— !." 561018 |Caliper Pin Bushing
4y TeYe ™ 561027 |Pin Cap

S 561028 |Pin Cap
561033 |Caliper Pin-36 % 114mm
SB81035 |Caliper Pin-36 x Bdmm
S61038 |Fin Bolt-M 16 % 1.5-B5mm
581041 |Pin Bolt-M 16 % 1 5-70mm

2
1
1
1
1
1
1
1
1

o OE, Criginal nurnber, and Maker, for reference Purpose onlky. OF, Criginal nurmber, and Maker, for reference Purpose only. °



Knorr

Nt
) = =
L

561093

Caliper Pin Repair Kit
OEM NO * K000935
APPLICATION : SB6000/SB7000

N

S61016 |Pin Bush-40 x 36 x §2mm

S61019 |Pin Bellow Cap Set

S61030 |Caliper Pin-36 x 145mm

— | ==

S61037 |Pin Bolt-M16 x 1.5-150mm

561094

Caliper Pin Repair Kit
OEM NO * K001815

APPLICATION * SN6000/SN7000

S61015 |PinBoot- (Red) | 1

S61016 |Pin Bush-40 x 36 x $2mm 1

Caliper Pin Rubber Bush-
S61021 | ¥ Short)

S$61027 |Pin Cap

561033 |Caliper Pin-36 x 114mm

561033 |Pin Bolt-h16 x 1.5-85mm

1
1
561034 |Caliper Pin-32 x 80mm 1
1
1

S61039 |Pin Bolt-h16 x 1.5-80mm

561095

Caliper Pin Repair Kit

APPLICATION * SN6000/SN7000
i Dt IN [

561015 |Pin Boot- (Red)

S61016 |Pin Bush-40 x 36 x 82mm 1

561017 |Caliper Pin Cap Set 1

Caliper Pin Rubber Bush-
S61021 | shert)

561033 |Caliper Pin-36 x 114mm

S61038 |Pin Bolt-h16 x 1.5-85mm

1
S61034 |Caliper Pin-32 x 80mm 1
1
1

S61039 |Pin Bolt-l16 x 1.5-80mm

o OE, Original number, and Maker, for reference Purpose only.

Meritor eLsa

1
x

~
— ] . J

|I=_F

S62101

Caliper Adjusting Gear-R, 35mm
APPLICATION ' LRG543/LRG67 1
LRG575/LRG577/LRG587/LRG589
LRG591/LRGE17/LRGEIZ/LRGE43
LRG705/LRGT753

562102

Caliper Adjusting Gear- L, 35mm
APPLICATION * LRG/542/LRG670
LRG574/LRG576/LRG586/LRG558
LRG590/LRGB16/LRGE32/LRG642
LRG704/LRGT752

$62103

Caliper Adjusting Gear-R, 37.5mm

562104

Caliper Adjusting Gear- L, 37.5mm

§62105
Locking Shim
OEM NO : 68321678PK10

562106

Spring Retainer Thrust-R
APPLICATION ' LRG543/LRG571
LRG575/LRG577/LRG587/LR G589
LRG591/LRGE17/LRG705

562107

Spring Retainer Thrust-L
APPLICATION - LRG542/LRG570
LRG574/LRG576/LRG586/LR G589
LRG590/LRG616/LRGT704

562108

Caliper Adjusting Mechanism
APPLICATION * LRG542/LRG570
LRG574/LRG576/LRG586/LRG588
LRG590/LRG616/LRG704/LRG752
LRG543/LRG571/LRG575/LRG577
LRG587/LRG589/LRG591/LRGE17
LRG705/LRG753

562109

Adjusting Mechanism Clutch System-R
APPLICATION : LRG543/LRG571
LRG575/LRG577/LRG587/LR G589
LRG591/LRG617/LRG705/LRG753

562110

Adjusting Mechanism Clutch System-L
APPLICATION : LRG542/LRG570
LRG574/LRG576/LRG586/LR G588
LRG590/LRG616/LRG704/LRG752

562111

Caliper Tappet Dust Cover
OEMNO * ST1156
APPLICATION : MAN

562160

Brake Caliper Pin Repair Kit
OEM NO : 50802.6022
APPLICATION : MAN/LRG542
LRG543/LRG570/LRG571/LRG596
LRG587/LRG588/LRG589/LRG530
LRG591/LRGE32/LRGBE3II/LRGE42
LRG643

T —

DZ M 'DESCROPTION
862111

] Caliper Tappet Dust Cover | 1
S62112 |Pin Dust Rubber {Small) 1
562113 |Pin Bush-35 x 39 x 30mm 2
862114 [Pin Cap 2
862115 |(Brass Oval Bushing 1
2
1
1
1
1

$62116 |Pin Ring

562125 |Caliper Pin-35 x 135mm
562126 |Caliper Pin-35 x 73mm
$62132 |Pin Bolt-h20 x 1.5-150mm
$62133 |Pin Bol-h20 x 1.5-85mm

™

l|||||

‘Eﬂ'

X

—

OE, Original number, and Maker, for reference Purpose only. o

s

562118

Brake Caliper Lever
APPLICATION * LRG702/LRG703

562161

Brake Caliper Pin Repair Kit

OEM NO * 50802.6022
APPLICATION @ MAN/LRG542
LRG543/LRG570/LRG571/LRG596
LRG587/LRG588/LRG589/LRG590
LRG591/LRG632/LRG633/LRGE42
LRGE43

0] L S
862111 |[Caliper Tappet Dust Cover

$62112 |Pin Dust Rubber {Small)

S62113 |Pin Bush-35x 39 x 30mm

8562114 |Pin Cap

862116 |Pin Ring

862117 |Rubber Bush { Black )

562125 |Caliper Pin-35x 135mm

Caliper Pin With Bolt-33 x
562127 110mm

$62132 |Pin Bolt-M20 x 1.5-150mm | 1

562162

Brake Caliper Pin Repair Kit
OEM NO * MCK1102
APPLICATION @ MAN/LRG542/
LRG543/LRG570/LRG571/LRG596/
LRG587/LRG588/LRG589/LRG590/
LRG591/LRGB32/LRGBE33/LRGE42/
LRG643
[SUNDOZ NO | D ON 1]
$62112 |Pin Dust Rubber {Small} 1
$62113 |Pin Bush-35x 39 x 30mm
562114 |Pin Cap
862115 |Brass Oval Bushing
862116 |Pin Ring
S62125 |Caliper Pin-35 x 135mm
562126 |Caliper Pin-35 x 73mm
562132 |Pin Bolt4420 x 1.5-150mm
$62133 |Pin Bolt-1M20 x 1.5-88mm

—_—] | ===




562201

Caliper Lever

APPLICATION : LRG544/LRG546
LRG572/LRG580/LRG582/LRG 638
LRG646/LRGE58/LRGE64/LRGT700
LRG712/LRG720/LRG722/LRG724
LRG748/LRG750
LRG545/LRG547/LRGS73/LRG581
LRG583/LRGB39/LRG64T/ILRGES9
LRG665/LRG701/LRG713/LRG721
LRG723/LRG725/LRG749/LRG751

$62202

Caliper Calibration Mechanism
APPLICATION : LRG544/LRG546
LRG572/LRG580/LRG582/LRG638
LRG646/LRG658/LRGE64/LRGT00
LRG712/LRG720/LRG722/LRG724
LRG748/LRG750--++

562203

Caliper Calibration Mechanism
Bushing

APPLICATION : LRG544/LRG546
LRG572/LRGS80/LRGS582/LRG 638
LRG646/LRGB58/LRGEE4/LRG700
LRG712/LRG720/LRG722/LRG724
LRG748/LRG750:-+-

S562204

Caliper Calibration Mechanism Oil
Seal/Steel Ring

APPLICATION : LRG544/LRG546
LRG572/LRG580/LRG582/LRG6E38
LRG646/LRG658/LRG664/LRGT00
LRG712/LRGT720/LRG722/LRG724
LRG748/LRG750--+-

o OE, Criginal number, and Maker, for reference Purpose only.

D o

~

562205

Caliper Calibration Mechanism Gasket

APPLICATION @ LRG544/LRG546
LRGS72/LRGS80/LRG582/LRGE38
LRGE46/LRGES8/LRGB64/LRGT700
LRG712/LRG720/LRG722/LRG724
LRG748/LRG750- -

562206

Calibration Gear Bed
APPLICATION : LRG544/LRG546
LRG572/LRG580/LRG582/LRG638
LRG646/LRG658/LRGE64/LRGTO0
LRG712/LRG720/LRG722/LRG724
LRG748/LRG75Q- -

S562207

Caliper Calibration Mechanism Set
APPLICATION : LRG544/LRG546
LRG572/LRG580/LRG582/LRG638
LRG646/LRGB58/LRG6E64/LRGT700
LRG712/LRG720/LRG722/LRG724

LRG748/LRG780-"

[suNDOZ NO

:ROPTION |Q

562230 |Caliper Calibration Bedplate

Caliper Spring-33 x 28 x
562231 22mm

&

1

Caliper Spring-50 x 40 x

562232 47mm

1 *‘E

562233 |Plastic Bushing {Big)

562234 |Plastic Bushing { Small)

L
®

562208

Caliper Calibration Mechanism
Assembly

APPLICATION @ LRG544/LRG546
LRG572/LRGS80/LRG582/LRG638
LRG646/LRGE58/LRGBE64/LRG700
LRG712/LRGT720/LRG722/LRG724
LRG748/LRG750-+- -

562209

Tappet & Boot Set

$62210

Brake Lining Calibration
GearAPPLICATION : LRG544/
LRG546
LRG572/LRG580/LRG582/LRGB38
LRG646/LRGE58/LRG6E64/LRG700
LRG712/LRG720/LRG722/LRG724
LRG748/LRG750:---

S$62211

Brake Calipre Shaft Small Gear-L
APPLICATION : LRG703

562212

Brake Calipre Shaft Small Gear-R
APPLICATION @ LRG703

562213

Calipre Roller Bearing Bed
APPLICATION : LRG702/LRG703

-t
W

S62214

Calipre Roller Bearing Set
APPLICATION : LRG702/LRG703

$62215

Calipre Lever Bushing Set

562216

Tappet Dust Cover

OEM NO : MCK1139/68324854PK10
APPLICATION : ELSA 2/ELSA 185/
ELSA 225

$62230

Calipre Pin Repair Kit
APPLICATION : LRG544/LRG546
LRGS572/LRG580/LRG582/LRGE38
LRG646/LRG6E58/LRGE64/LRG700
LRG712/LRG720/LRG722/LRG724
LRG748/LRG750
|SUNDOZ NO|
$62113
562216
562241
562242
562243
562250
562251
562261
562262

DESCROPTION |,‘-": T
Pin Bush-35 x 39 x 30mm
Tappet Dust Cover
Pin Dust Rubber { Small)
Pin Oval Bushing
Pin Cap
Caliper Pin-35 x 144mm
Caliper Pin-331 x 84mm
Pin Bolt-M18 x 1.5-150mm
Pin Bolt-M18 x 1.5-50mm

alalalalm]=ln oo

OE, Original number, and Maker, for reference Purpose only. o



Meritor D3
S62301

Caliper Bolt

$62302

Caliper Gear

$62303

S62330 ELT':(E Adjusting Calibration

Brake Adjusting Calibration Repair Kit

1 o L_i

S62331 |Brake Adjusting Gear

1

$62332 |Spring-L/R

1

Brake Adjusting Calibration
HAZ330 Bolt Rubber

1

S62304
Spline Shaft-L, 26 Teeth

APPLICATION * LRG528/LRG532
LRGS62

$62305
Spline Shaft-R, 26 Teeth

LRG563

a $62306

Bearing House-R
APPLICATION -

= $62307

Bearing House-L
APPLICATION : LRG5

24/LRGS2
LRG528/LRG532
LRG562/LRGE22

o OE, Original number, and Maker, for reference Purpose only.

-
I-

o4

$62308

Roller Bearing

APPLICATION : LRG524/LRG52
LRG528/LRG532/LRG562/LRG622
LRG525/LRG527/LRG528/LRG533
LRG563/LRGB23

$62309

BAIll Bearing Set

APPLICATION : LRG524/LRG526
LRG528/LRG532/LRG562/LRG6E22
LRG525/LRGS27/LRG529/LRG533
LRG563/LRGE23

$62310

Wavy Washer
APPLICATION : LRG524/LRG526

LRG528/LRG532/LRG562/LRGB22
LRG525/LRG527/LRG529/LRG533
LR /ILRGB23

S62320 |Wavy Washer (Big) | 1

S$62321 |Wavy Washer ( Small) 1
562311

Spline shaft Cover
APPLICATION - LRG524/LRG52
LRG528/LRG532/LRG562/LRG
LRGS525/LRG527/LRG529/LRG533
LRGS563/LRG6B23

B

S62314

Caliper Pin Repair Kit

APPLICATION : LRG524/LRG526
LRG528/LRG532/LRG562/LRGE22
LR /ILRG527/LRG529/LRG533
LRG563/LRGB23

$62334 |Pin Boot
S$62335 |Pin Bushing

S62336 |Pin Dust Cap

562337 |Pin Cap

S62115 |Pin Bush

562340 |Caliper Pin-32 x 117mm
S62341 [Caliper Pin-32 x 74mm
S62350 |Pin Boot-M18 x 1.5-117mm
S$62351 |Pin Boot-M18 x 1.5-92mm

JE) ) ) B D P TR N S

$62312
Caliper Brake Lining Plate
APPLICATION * LRG524/LRG

TILRG529/LRGS33/

$62401

Caliper Lever
APPLICATION : ELSA 195

$62402

Caliper Adjusting Gear
= m} APPLICATION : ELSA 195

$62403

Caliper Calibration Mechanism
APPLICATION : ELSA 195

$62404

[ =08
Caliper Calibration Mechanism Gasket

& ON -
L — 4 APPLICATION

ELSA 195

$62405

Caliper Calibration Mechanism
Assembly
APPLICATION - ELSA 195

$62420

Caliper Pin Repair Kit
OEM NO : MCK1254

S62113 |Pin Bush-35 x 39 x 30mm
562241 [Pin Dust Rubber ( Small )
562242 |Pin Oval Bushing

bzl 562410 |Dust Excluder Retainer
pey, S62411 [Pin Cap

Bridge Bolt-M14 x 1.5-
862412 40mm

S62415 |Caliper Pin-35 x 117mm
562416 |Caliper Pin-31 x 78mm
S62417 |Pin Bolt-M18 x 1.5-120mm
S$62418 |Pin Bolt-M18 x 1.5-80mm

- l\)l\)—‘-l\)l\.)fi,,‘

JEPE) IR G e

$62420.1

Caliper Pin Repair Kit
OEM NO * MCK1254
APPLICATION : ELSA 195

S62113 |Pin Bush-35 x 39 x 30mm
562241 |Pin Dust Rubber { Small)
562242 |Pin Oval Bushing
562410 |Dust Excluder Retainer
362411 [Pin Cap

$62412 Bridge Bolt-M14 x 1.5-
40mm

Bridge Bolt-M16 x 1.5-
40mm

562415 |Caliper Pin-35 x 117mm
562416 |Caliper Pin-31 x 78mm
562417 |Pin Bolt-M18 x 1.5-120mm
562418 |Pin Bolt-M18 x 1.5-80mm

EN TN e P Y =

562413

=~

SIPC| PEY FPR) e

OE, Original number, and Maker, for reference Purpose only. @



Meritor Duco

R - n S62501
-, &

Brake Calipre Lever

562502

Shaft
Front/Right&Left
OEM NO :MCK1113

862503

¢ A s
Rear/Left
OEM NO *MCK1111-8J4102

= ° Shaft
Rear/Righ
OEM NO - MCK1112-8J4103

O S62505

PN

iz i = Brake Calipre Gasket Set
OEM NO - 844105

; -~ O. S62506
- ¢t

Brake Calipre Gasket Set
- OEM NO - MCK1041
[Y)uiro=s-) APPLICATION : C/LE DUCO

Brake Calipre Gasket Set
OENM NO - 8J4109

s lefdrL> APPLICATION : D DUCO-Radial
‘ S62508
@ -
'’ Gear Spring

OEM NO : MCK1067

@ CE, Qriginal number, and Maker, for reference Purpose only.

Brake Calipre Adjusting Mechanism

Brake Calipre Adjusting Mechanism

Brake Calipre Adjusting hMechanism

$62509
\'{:{ Meritor-Caliper Tappet Anti Rotati
= eritor-LCaliper lappel Antl Rotation
& & o Plate

OEM NO : 68322900PK10

S62530

Brake Caliper Tappet & Boot Set
OEM NO - MCK1238
APPLICATION - B/C/DLE DUCO

Ieritor-Caliper Guide & Seals Repair
Kit
OEM NO - MCK111B

\(% h:’& I'562241I:.'F'|n Dust Rubbe:r”(-SII’I;aII)

562515 |Plastic Bush
- — i} 562516 |Brass Owal Bush

z 562517 |Pin Cap
562518 |Dust Excluder Retainer
SA2519 |Caliper Pin-35x» 102mm
562520 |Caliper Pin-31 % BOmm
562521 |Pin Bolt-M20 % 1.5-12mm
562522 |Pin Bolt-M20 % 1.5-833mm

ol s b ] | = s B

é\a ” 562532

Brake Caliper Adjusting IMechanism &

Tappet Boot Set
r___) J‘: l. )OEM NO - MCK1237-MCK1239

562533
C.\( 8 ) Q? Brake Caliper Adjusting IMechanism &

Tappet Boot Set

‘ :ti Ejf}'_) OEM NO - MCK1236

862601

9 &
& A .'5 Brake Caliper Adjusting Mechanism

S63001

Brake Caliper Lever With Spring

Caliper Boot Set

583030 |Caliper Spring {Big) 11
563031 |Caliper Spring { Small ) 1
S63004

Caliper Roller Bearing Set

S63005

Caliper Adjusting Mechanism VWasher
& Sprlng Set

- \ 563031. CallperSprlng (Small)
c? 5 2 563032 [Bever Washer
- -~

563033 |Washer

SA3034 |Bottom Washer

SA3035 |Lock Ring

563036 |Clips

S63006

(3 Torswn Sprlng Rlng Set
- E NO|

56303? Torsmn Sprmg Rlngl(.Thlck) '€1

563038 | Torsion Spring Ring § Thin) | 1

S63007
v ! - —
Calibration Bolt, With Pin-91mm

863009

° S630M

S63008

-’ Adjusting Mechanism Slot-115mm

S63010

Brake Caliper Shaft Housing

Brake Caliper Adjusting Mechanism

Callper Boot & P|n Cap Set

Callper Boot Set

[ i ! ‘.' :| SESDDQ

563039

Fin Cap

Sg3040 |Fin Cap

S63012

Caliper Boot & P|n Repalr Kit

) D l-IISBSDH

Callper Boot & F'ln Cap Set |

Fin Bushing

563041

-’ f/ N 563029
S

Caliper Pin-30 x BBmm

583042

Caliper Pin-30 % 78mm

563043

Pin Bolt-M16 x 1.5-90mm

SH3044

Fin Bolt-M 16 % 1.5-70mm

] a] s | < B

QE, Griginal number, and Maker, for reference Purpose only.




Old Model

i,

564101

Caliper Bridge & Spring

$64102

Brake Caliper Adjusting Bedplate &
Bushing

wn

564103

Brake Caliper Adjusting Mechanism

$64104

Brake Caliper Adjusting Mechanism

w

564105

Brake Caliper Lever & Bearing

S64106

Brake Caliper Roller Bearing

$64107

Brake Caliper Roller Bearing Set

@ OE, Qriginal number, and Maker, for reference Purpose only.

e

A

S64108

Brake Caliper Spring

S64140 |Brake Caliper Spring (Big) | 1

Brake Caliper Spring

seat41 g 1
60g¢g
-3
‘Qﬂi=|1a}3
S
$64109

Brake Caliper Adjusting Mechanism

S64110

Brake Caliper Calibration Bolt-R

New Model

AYL o

564111

Brake Caliper Calibration Bolt-L

6411

»N

wn

Brake Caliper Bushing

CCa ()

S64113

Brake Caliper Calibration Bolt-R

N O

564114

Brake Caliper Calibration Bolt-L

S64115

' Brake Caliper Push Plate

S64130

Brake Caliper Pin Repair Kit

S64119 |Capliper Pin-35 x 70mm

S$S64120 |Capliper Pin Rubbrt Bushing

s64121 |Capliper Bolt Rubbrt
Bushing

S64122 |Capliper Pin Cap

S64123 |Capliper Pin Steel Ring

[=> 3 S S 6 B e I S

$64201

Brake Caliper Bridge

S64202

Brake Caliper Adjusting Mechanism
Gear

S64203

Brake Caliper Fixed Plate

S64204

Brake Caliper Adjusting Mechanism

QE, Criginal number, and Maker, for reference Purpose only.

$64205

Brake Caliper Adjusting Mechanism

S64206

Brake Caliper Adjusting Mechanism

564207

Brake Caliper Adjusting Mechanism

564208

Brake Caliper Adjusting Bedplate

$64209

Brake Caliper Adjusting Mechanism
Cage

Brake Caliper Lever

S64211

Brake Caliper Roller Bearing Set




S64240

a ‘ ] a Brake Caliper Bolt Set

SUNDOZ No| DESCROPTION oy
@ f:' 3 5 564217 |Capliper Bolt
T
=== Capliper Bolt Rubhrt
€l Sle e Bushing

564218 |Capliper Pin Cap
564220 |Capliper Pin Bushing

S [ T ]

S64241

Brake Caliper Bolt Kit
SUNDOZ NO DESCROPTION
564225 |Capliper Fin-35 x 84mm 2
564228 |Capliper Pin Rubbrt Bushing| &
564227 |Capliper Pin Cap 2

q ' S65001
53 Loy 3
Brake Adjusting Repair Kit
~...J %‘9 OEM NO : 93161254

@ OE, Criginal number, and Maker, for reference Purpose only.

QE, Criginal number, and Maker, for reference Purpose only. e



